©

Pearson

Mark scheme
Summer 2018

Pearson Edexcel

GCE History (8HIO/1C)
Advanced Subsidiary
2018

Paper 1: Breadth study with
interpretations

Option 1C: Britain, 1625-1701.:
conflict, revolution and settlement



Edexcel and BTEC Qualifications

Edexcel and BTEC qualifications are awarded by Pearson, the UK’s largest awarding body. We
provide a wide range of qualifications including academic, vocational, occupational and
specific programmes for employers. For further information visit our qualifications websites at
www.edexcel.com or www.btec.co.uk. Alternatively, you can get in touch with us using the
details on our contact us page at www.edexcel.com/contactus.

Pearson: helping people progress, everywhere

Pearson aspires to be the world’s leading learning company. Our aim is to help everyone
progress in their lives through education. We believe in every kind of learning, for all kinds of
people, wherever they are in the world. We've been involved in education for over 150 years,
and by working across 70 countries, in 100 languages, we have built an international
reputation for our commitment to high standards and raising achievement through innovation
in education. Find out more about how we can help you and your students at:
wWww.pearson.com/uk

Summer 2018

Publications Code 8HIO_1C_1806_MS

All the material in this publication is copyright
© Pearson Education Ltd 2018


http://www.edexcel.com/
http://www.btec.co.uk/
http://www.edexcel.com/contactus
http://www.pearson.com/uk

General Marking Guidance

¢ All candidates must receive the same treatment. Examiners must mark
the first candidate in exactly the same way as they mark the last.

e Mark schemes should be applied positively. Candidates must be rewarded
for what they have shown they can do rather than penalised for omissions.

e Examiners should mark according to the mark scheme not according to
their perception of where the grade boundaries may lie.

eThere is no ceiling on achievement. All marks on the mark scheme should
be used appropriately.

¢ All the marks on the mark scheme are designed to be awarded. Examiners
should always award full marks if deserved, i.e. if the answer matches the
mark scheme. Examiners should also be prepared to award zero marks if
the candidate’s response is not worthy of credit according to the mark
scheme.

e Where some judgement is required, mark schemes will provide the
principles by which marks will be awarded and exemplification may be
limited.

e When examiners are in doubt regarding the application of the mark
scheme to a candidate’s response, the team leader must be consulted.

e Crossed out work should be marked UNLESS the candidate has replaced it
with an alternative response.



Generic Level Descriptors: Sections A and B

Target: AO1: Demonstrate, organise and communicate knowledge and understanding to
analyse and evaluate the key features related to the periods studied, making substantiated
judgements and exploring concepts, as relevant, of cause, consequence, change, continuity,
similarity, difference and significance.

Level

Mark

Descriptor

0

No rewardable material.

1-4

Simple or generalised statements are made about the topic.

Some accurate and relevant knowledge is included, but it lacks range
and depth and does not directly address the question.

The overall judgement is missing or asserted.

There is little, if any, evidence of attempts to structure the answer,
and the answer overall lacks coherence and precision.

There is limited analysis of some key features of the period relevant to
the question, but descriptive passages are included that are not clearly
shown to relate to the question.

Mostly accurate and relevant knowledge is included, but it lacks range
or depth and has only implicit links to the demands and conceptual
focus of the question.

An overall judgement is given but with limited substantiation, and the
criteria for judgement are left implicit.

The answer shows some attempts at organisation, but most of the
answer is lacking in coherence, clarity and precision.

11-16

There is some analysis of, and attempt to explain links between, the
relevant key features of the period and the question, although
descriptive passages may be included.

Mostly accurate and relevant knowledge is included to demonstrate
some understanding of the demands and conceptual focus of the
question, but material lacks range or depth.

Attempts are made to establish criteria for judgement and to relate the
overall judgement to them, although with weak substantiation.

The answer shows some organisation. The general trend of the
argument is clear, but parts of it lack logic, coherence and precision.

17-20

Key issues relevant to the question are explored by an analysis of the
relationships between key features of the period, although treatment of
issues may be uneven.

Sufficient knowledge is deployed to demonstrate understanding of the
demands and conceptual focus of the question and to meet most of its
demands.

Valid criteria by which the question can be judged are established and
applied in the process of coming to a judgement. Although some of the
evaluations may be only partly substantiated, the overall judgement is
supported.

The answer is generally well organised. The argument is logical and is
communicated with clarity, although in a few places it may lack
coherence and precision.




Section C

Target: AO3: Analyse and evaluate, in relation to the historical context, different ways in
which aspects of the past have been interpreted.

Level | Mark Descriptor
0 No rewardable material.

1 1-4 ¢ Demonstrates only limited comprehension of the extracts, selecting
some material relevant to the debate.

e Some relevant contextual knowledge is included, with limited linkage to
the extracts.

e Judgement on the view is assertive, with little or no supporting
evidence.

2 5-10 ¢ Demonstrates some understanding and attempts analysis of the
extracts by describing some points within them that are relevant to the
debate.

e Contextual knowledge is added to information from the extracts, but
only to expand on matters of detail or to note some aspects which are
not included.

¢ A judgement on the view is given, but with limited support and related
to the extracts overall, rather than specific issues.

3 11-16 | « Demonstrates understanding of the extracts and shows some analysis
by selecting and explaining some key points of interpretation they
contain and indicating differences.

e Knowledge of some issues related to the debate is included to link to, or
expand, some views given in the extracts.

e A judgement is given and related to some key points of view in the
extracts and discussion is attempted, albeit with limited substantiation.

4 17-20 | « Demonstrates understanding of the extracts, analysing the issues of
interpretation raised by comparison of them.

e Integrates issues raised by extracts with those from own knowledge to
discuss the views. Most of the relevant aspects of the debate will be
discussed, although treatment of some aspects may lack depth.

e Discusses evidence in order to reach a supported overall judgement.
Discussion of points of view in the extracts demonstrates understanding
that the issues are matters of interpretation.




Section A: Indicative content

Question

Indicative content

1

Answers will be credited according to candidates’ deployment of material in
relation to the qualities outlined in the generic mark scheme. The indicative
content below is not prescriptive and candidates are not required to include all
the material which is indicated as relevant.

Candidates are expected to reach a judgement on whether religious issues were
the main reason for the problems faced by the monarchy in the years 1625-40.

Arguments and evidence that religious issues were the main reason for the
problems faced by the monarchy in the years 1625-40 should be analysed and
evaluated. Relevant points may include:

e Charles I's continued promotion of Arminians in the Church led to mistrust
of the monarch and raised fears of a Catholic, absolutist conspiracy

e Catholic influence at the royal court also raised widespread fears about the
reintroduction of Catholicism; these concerns were sharpened by religious
conflict in Europe

e The Laudian Church reforms and Laud’s religious and secular role bred
widespread resentment and reinforced concerns that Charles I aimed to
create a Catholic-based absolute monarchy

e Charles I's attempt to impose religious changes in Scotland provoked a
strong and organised opposition (spearheaded by the Scottish clergy and
nobility) and led to the Bishops’ Wars.

Arguments and evidence that other factors were the main reason for the
problems faced by the monarchy in the years 1625-40 should be analysed and
evaluated. Relevant points may include:

e Charles I's continued support for the Duke of Buckingham, who had
pursued a disastrous foreign policy regarding Cadiz (1626) and La
Rochelle (1627), sharpened parliamentary opposition to the King

e Charles I's pursuit of a forced loan (1626-27) and the ensuing Five
Knights' case raised fears of a royal tyranny

e The failure to settle the constitutional crisis through the Petition of Right
(1628) led to a further deterioration in relations between the King and
Parliament

e During the 1630s, many of the ruling elite resented that Charles I was
creating a tax-raising system without reference to Parliament, which
deprived them of the right to consent.

Other relevant material must be credited.




Question

Indicative content

2

Answers will be credited according to candidates’ deployment of material in
relation to the qualities outlined in the generic mark scheme. The indicative
content below is not prescriptive and candidates are not required to include all
the material which is indicated as relevant.

Candidates are expected to reach a judgement about whether fear of royal
absolutism was the main reason for Charles II's difficult relations with his
parliaments in the years 1665-81.

Arguments and evidence that royal absolutism was the main reason for Charles
IT's difficult relations with his parliaments in the years 1665-81 should be
analysed and evaluated. Relevant points may include:

e The Restoration Settlement’s lack of clarity left many areas for future
debate and conflict (including the powers of the monarch and Parliament)
so parliamentary concerns about royal absolutism were unlikely to subside

e Charles II's Declaration of Indulgence (1672) led to conflict with
Parliament partly because it claimed that the monarch had the prerogative
powers to ‘dispense with’ (suspend) the operation of the law

e Charles II's pro-French foreign policy in the 1660s and 1670s fuelled
parliamentary fears that he was seeking to emulate Louis XIV by creating
an absolute monarchy

e During the Exclusion Crisis (1679-81), Parliament attempted to prevent
the succession of Charles II's brother, the Duke of York, who believed
firmly in the divine right of kings.

Arguments and evidence that royal absolutism was not/other factors were mainly
responsible for Charles II's difficult relations with his parliaments in the years
1665-81 should be analysed and evaluated. Relevant points may include:

e Parliamentary opposition to Charles II over finance and taxation was
partly designed to keep the King short of money in order to compel him to
listen to Parliament, e.g. the recall of Parliament in 1673

e Parliamentary opposition to Charles II's attempts to pursue a pro-Catholic
agenda, e.g. his attempt to suspend the Act of Uniformity (1662) and
introduce the Declaration of Indulgence (1672)

e Parliamentary discontent with the King was also generated due to the
course and outcome of the Anglo-Dutch wars, e.g. the Dutch raid on the
Medway (1667)

e The Duke of York’s conversion to Catholicism hardened the King’s relations
with Parliament; faced with the prospect of a Catholic succession,
Parliament drew up a list of complaints and draft measures.

Other relevant material must be credited.




Section B: Indicative content

Question

Indicative content

3

Answers will be credited according to candidates’ deployment of material in
relation to the qualities outlined in the generic mark scheme. The indicative
content below is not prescriptive and candidates are not required to include all
the material which is indicated as relevant.

Candidates are expected to reach a judgement about the extent to which the
power of the nobility declined in Stuart Britain in the years 1625-88.

Arguments and evidence that the power of the nobility declined in Stuart Britain
in the years 1625-88 should be analysed and evaluated. Relevant points may
include:

e The economic power of the nobility declined during this period due to the
impact of inflation on the profits and rents derived from their landed estates

e Many nobles who supported the Royalist cause during the English Civil War
were regarded as ‘malignants’ and had their estates confiscated and sold on
the open market

e The economic power of some nobles declined due to overspending in an
attempt to preserve an ‘aristocratic’ lifestyle, e.g. the high cost of retainers,
servants, hospitality, and expected visits to the royal court.

Arguments and evidence that the power of the nobility did not decline in Stuart
Britain in the years 1625-88 should be analysed and evaluated. Relevant points
may include:

e Throughout the 17th century the nobility remained the ruling class running
Stuart society in partnership with the monarchy and the Church

e The great landowning families conserved their landed estates (the source of
their power) via strict settlement or entail to prevent their holdings being
broken up by their successors

e Most noble families used diversification, strict settlement, advantageous
marriage or other methods to preserve their power and compensate for the
disappointing economic performance of their agricultural holdings

e The political power, and size, of the nobility was enhanced under the later
Stuarts who used aristocratic titles to reward supporters and ensure Lords’
majorities, e.g. there were 104 noble families in 1625 but 157 by 1688

e The nobility retained their economic power by owning (together with the
gentry) a fifth of the land in England, which generated average annual
incomes of £5,000-£30,000.

Other relevant material must be credited.




Question

Indicative content

4

Answers will be credited according to candidates’ deployment of material in
relation to the qualities outlined in the generic mark scheme. The indicative
content below is not prescriptive and candidates are not required to include all
the material which is indicated as relevant.

Candidates are expected to reach a judgement on the significance of the Royal
Society in promoting a ‘scientific revolution’ in Stuart Britain in the years 1660-
88.

The significance of the Royal Society in promoting a ‘scientific revolution’ in
Stuart Britain in the years 1660-88 should be analysed and evaluated. Relevant
points may include:

e The Royal Society (proposed in 1660 and established in 1662) was boosted
by a royal charter and Charles II's interest in science, which attracted a
wide range of scientists from a variety of fields

e The Royal Society attracted ground-breaking scientists such as Isaac
Newton, and the institution’s reputation ensured that many of the best
scientific scholars preferred it to the universities of Oxford or Cambridge

e The Royal Society produced the first scientific journal, Philosophical
Transactions (1665), which performed the important function of sharing
scientific discoveries and information

e The Royal Society attracted a wide membership drawn from the landed and
professional classes, which helped to popularise scientific knowledge in
fashionable society in Restoration England.

The limitations to the Royal Society’s significance/significance of other factors in
promoting a ‘scientific revolution’ in Stuart Britain in the years 1660-88 should
be analysed and evaluated. Relevant points may include:

e The Royal Society only dedicated itself exclusively to scientific research after
1684; before then it focused on all areas of intellectual study

e Although the Royal Society provided a forum for scientists to demonstrate
their discoveries, it did not always give them assistance to develop their
work

e The Royal Society spent much time on pointless ‘scientific’ pursuits, e.g.
trying to turn lead into gold and using mathematical theories to calculate
when God would return to earth in human form

e Other scientific groups based at the universities of Oxford and Cambridge
also played a significant role in promoting a ‘scientific revolution’

e The impetus for the ‘scientific revolution’ also came from less scholarly
quarters, e.g. the Royal Observatory received military funding in an attempt
to pull ahead of the French in charting longitude at sea.

Other relevant material must be credited.




Section C: Indicative content

Question

Indicative content

5

Answers will be credited according to candidates’ deployment of material in
relation to the qualities outlined in the generic mark scheme. The indicative
content below is not prescriptive and candidates are not required to include all
the material which is indicated as relevant. Other relevant material not suggested
below must also be credited.

Candidates are expected to use the extracts and their own knowledge to consider
the view that the Toleration Act of 1689 did little to undermine the Anglican
Supremacy.

Reference to the works of named historians is not expected, but candidates may
consider historians’ viewpoints in framing their argument. Candidates should use
their discussion of various views to reach a reasoned conclusion.

In considering the given view, the points made by the authors should be analysed
and evaluated. Relevant points may include:

Extract 1

e The Toleration Act (1689) had been conceded reluctantly and was
designed to preserve the privileged position of Anglicanism

e Although the Act relaxed the laws against dissenting meetings for
mainstream Protestant dissenters, it still completely excluded Catholics,
Unitarians and Jews

e After the Act was passed, it was still the case that only Anglicans could
hold public office and attend the universities of Oxford and Cambridge.

Extract 2

e Once the Act was passed, almost all Protestant churches were to be
tolerated

e Dissenting officeholders could circumvent legal restrictions via the practice
of occasional conformity

e The Toleration Act released dissenters and others from the obligation to
attend Church, which weakened Anglican influence.

Candidates should use their own knowledge of the issues to address the view that
the Toleration Act of 1689 did little to undermine the Anglican Supremacy.
Relevant points may include:

e The laws enforcing uniformity (Test Act and Act of Uniformity) were not
repealed, which meant that public officials were compelled to swear
allegiance to the Anglican Church

e Anyone gaining public employment or entering Parliament had to swear
allegiance to the Crown and take Anglican Communion

e Parliament did not hold a theological debate before the Toleration Act was
passed - it was a reactionary attempt to maintain order and preserve the
Anglican Church

e Additional Toleration Acts were passed in Scotland and Ireland and these
excluded dissenters from local and national government.




Candidates should use their own knowledge of the issues related to the debate to
address the view that the Toleration Act of 1689 did undermine the Anglican
Supremacy. Relevant points may include:

The Toleration Act was effectively an admission that the Church of
England could not enforce complete uniformity, e.g. almost eight per cent
of the population were dissenters by the early 1700s

Although excluded from the provisions of the Toleration Act, many
Catholics enjoyed a degree of freedom and were able to participate in
mass without harassment

The power of the Church courts, which had played a vital role in upholding
the confessional state earlier in the 17th century, was severely weakened
by the Toleration Act

In practice, William III used his royal authority to influence judges and
restrict Church interference in the lives of Catholics and dissenters not
covered by the Act.

Other relevant material must be credited.




